When an exponential models a "real life" situation: Use the given information to find the base (b) of an exponential equation
that could model the situation.
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1. Find the value of the business in 2016.
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The number of cases of flu is increasing 22% every 4 days.

On February 1 there were 176 cases of flu. The number of deer in the county has been decreasing 5.6%

every 5 years. The number of deer in 2009 was 9,500.

oot 22t =l Y= (i)™ o= SL=T4 — S m og
bo=1L12% a. Find the number of deer in 2014. i
a. Find the number of cases 12 days later. rg—y we, I
M= \Ldeys a2 \’7(0<[7/?/>3 — ><: gY(‘ = ( 9‘50((.9“/%5 - %BQgQiQQV\
4’ o 3 ~
Sz b. Find the number of deer in 2020.
b. Find the nmber of cases of flu 3 weeks later. l l
— S 2008
X= ks = 2l days 21y — 500 A= NN = . 9’600(9%%) :8:5/69 Qj%p

<L?l<a>g [70 (["LL)



When a couple's first child is born they invest $10,000 in an account that L
pays 8% interest annually. How much will be in the account when the You can now finish Hwk #33
child turns 18 years old?
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Problems 9, 20-23, 35-38, 45-48

The value of an investment is increasing 8% each year. Find the value of x in each equation:

If the investment's value today is $125,000 find the number Round to the nearest hundredth when needed.
of years it will take to reach $1,000,000.
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Every math operation has it's inverse. What operation is the inverse of each given operation?

Inverse operations "undo" each other. Given Operation nsersei®psraibn
We solve equations by using inverses to get the variable by itself. Addition T ——
Division Multiplication
Squaring Square Root
Cube Root Cubing
Find the equation of the inverse for Find the equation of the inverse

this function:

y = 10*

step 1: Switch xand y

Step 2: Solve fory.
Right now students don't know how to solve exponential

equations or write the inverse of exponential equations.

This will take a new function.




To solve for x in an exponential equation: y =4*
we use the inverse operation called:

Logarithm



